Consider the statement “All calculus students have passed the same placement test.” SCORE: /SPTS

[a] Write the statement symbolically, using TWO variables, State clearly the domains and predicate. : NO CReDIT I~
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[b] Write the negation of the statement symbolically, using the domains and predicate from [a).
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Consider the statement “De Anza students enrolled in at least 5 units are eligible for an Eco Pass”. SCORE: /6 PTS

[a] Wnte the statement symbolically, using TWO predicates. State clearly the domain and predicates,. NO CREDIT [{—
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[b] Write the negation of the statement symbolically, using the domain and predicates from [a].
Also, write that negation informally (in natural sounding English).
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[c] Write the inverse of the statement symbolically, using the domain and predicates from [a].
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Let P(x) be the predicate “ X is a perfect square”, Let Q(x) be the predicate “ x” —1 is a multiple of 5. SCORE: ____ /6PTS
Let D={1,4,5,7,9} be the domain of both predicates.

[a] Find the truth set of P(x). You do NOT need to justify your answer.
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[b] Find the truth set of J(x). You do NOT need to justify your answer.
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[c] Is the statement P(x) = Q(x) true or false ? Explain very briefly.
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Werite the following statement informally (in natural sounding English). SCORE: /3 PTS

Your answer should NOT use the phrases “for all”, “for every”, “for each”, “for any”, “such that”, “there exists”, “there is”.

VseS,Ame M ~T(s, m) where & =sct of all De Anza students, M =set of all De Anza math classes,
and T'(s,m)="“s hastaken m”
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Let A={-2,1,3} and B ={-2,0,2}.

SCORE: ___ /6PTS
Let P(x, y) be the predicate “2x + y* is a multiple of 3” with domain Ax B (ie. x€ A and y € B).

Determine if the statement “Vx € A4, 3y € B : P(x, y) > is true or false.

Justify your answer as shown in lecture. Use as few examples/counterexamples as possible.
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Prove that the following argument is valid using the Rules of Inference. SCORE: /9PTS

Give the reason for each step as shown in lecture.
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